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Time: 35 Minutes Paper English 5 (T-1) Total Marks: 25

5th Month, 4th Week, 5th Day

Syllabus: Revision Test Week - 4.

Q.No.1. Choose the correct option. (13)
1. "Markhor lives in mountain." Given sentence is a:

|(a)| question |(b)| order |(c)| statement |(d)| dialogue |
2. Completet the word " ead" with:

2 I I ) N )
3. AmlI with you?

|(a)| g0 |(b)| goes | (©) | gone |(d)| going |
4. "I see her again." Complete with correct weak form.

|(a)| shan't |(b)| won't |(c)| will not |(d)| should not |
5. He worked hard could not stand fast.

| (a) | but |(b)| because | (c) | ) |(d)| and |
6. Like other goats, markhors are animals.

| (a) | omnivorous |(b)| herbivorous | (c) | carnivorous |(d)| hunting |
7. There are species of markhor found in Asia.

@]  two | e @  fouwr @) five |

8. "Endangered'" means:

|(a)| at risk |(b)| in danger |(c)| in heaven |(d)| both a and b |

9. The words which join other words, phrases and sentences are called:

|(a)| joining words |(b)| action words |(c)|describing words|(d)| entry words |

10. Identify joining words.

|(a)| and, but, so |(b)| or, because |(c)| in, at |(d)| both a and b |

Read the following paragraph and answer the given questions.

Females have reddish coats. These coats shorten in summer and elongate on
winter. A markhor male measures around 52 to 73 inches in length and weighs 71

to 240 pounds. Females are much smaller than males.

11. Female markhor has coats.

l@| black  |®)| reddish  [(©)] lightbrown (@]  white |
12. The coats of markhor shorten in:

| (a) | summer |(b)| winter | (c) | autumn |(d)| spring |
13. Markhor's weighs pounds.

l@| 5010300 |m) 3000150 @] 710240 |@)] 521073 |
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Q.No.2. Read the sentences and writes 'S' for a statement and 'Q' for a
question. A3
¢ Markhor lives in mountains.
¢ How long can markhors live?
¢ What do markhors eat?
Q.No.2. Use the following words in sentences. “)
Words Sentences
predator
escape
elongate
powerful
Q.No.3. Write a paragraph on 'Endangered Animals'. Q)




